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Tnpsc group I / ii preliminary  
SOCRATES BATCH - WEEKly TEST 4 OF February, 24 

 

1. According to Fluid – Mosaic model, plasma membrane is made of  
a. Cellulose and hemicellulose   
b. Phospholipids & Hemicellulose 
c. Phospholipids & Intrinsic proteins  
d. Phospholipids & Intrinsic and extrinsic proteins 
e. Answer not known 
jput – nkhirf; khjphpapd; gb> gpsh];kh rt;thdJ _______ My; 
MdJ 
a. nry;YNyh]; kw;Wk; n`kpnry;YNyh];  
b. gh];Nghypgpl;Lfs; kw;Wk; n`kpnry;YNyh];   
c. gh];Nghypgpl;Lfs; kw;Wk; cs;shh;e;j Gujq;fs;  
d. gh];Nghypgpl;Lfs;> cs;shh;e;j Gujq;fs; kw;Wk; ntspg;Gwg; Gujq;fs;  
e. tpil njhpatpy;iy 

 

2. The reactions of glycolysis occurs in the  
a. Mitochondria and require the presence of oxygen 
b. Chloroplast and do not require the presence of oxygen 
c. Cytoplasm and do not require the presence of oxygen 
d. Peroxysomes and require the presence of oxygen 
e. Answer not known 
fpisf;fhyp]p]; - tpidfs; eilngWtJ 
a. ikl;Nlhfhd;l;hpahtpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy; 
b. gRq;fzpfj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy;  
c. irl;Nlhgpshrj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy; 
d. nguhf;rpN]hkpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy;  
e. tpil njhpatpy;iy 

 
3. Which ratio is constant for DNA? 

a. A+G/T+C  b. A+T/G+C   c. A+C/U+G  
d. A+U/C+G  e. Answer not known 
,tw;wpy; vJ b.vd;.V tpy; cs;s epiyahd tpfpjk; 
a. A+G/T+C  b. A+T/G+C   c. A+C/U+G  
d. A+U/C+G  e. tpil njhpatpy;iy 
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4. _________ is essential for binding of Ribosomal sub units. 
I. Mo  II. Mg  III. Cl  IV. Ca 
a. I and II only  b. II only   c. III and IV only  
d. IV only   e. Answer not known 
iuNghNrhk; Jiz myFfis ,izf;fg; gad;gLk; fdpkk;  
I. Mo  II. Mg III. Cl IV. Ca 
a. I kw;Wk; II kl;Lk;  b. II kl;Lk;   c. III kw;Wk; IV kl;Lk;  
d. IV kl;Lk;   e. tpil njhpatpy;iy 

 
5. Flavonoids mostly accumulate in 

a. Chloroplast  b. Chromoplast   c. Vacuole   
d. Cytosol   e. Answer not known 
/gpshtdha;Lfs; nghJthf jpuz;L fhzg;gLtJ ,jpy; 
a. FNshNuhgpsh];l;  b. FNuhNkhgpsh];l;   c. thf;FNahy;    
d. irl;Nlhrhy;  e. tpil njhpatpy;iy 

 
6. In plants waste product cystolith is commonly known as 

a. Calcium carbonate crystals  b. Calcium oxalate crystals 
c. Magnesium sulphate crystals  d. Cluster crystals 
e. Answer not known 
jhtuq;fspy; fopT nghUshd rp];Nlhypj; vdg;gLtJ ,t;thW nghJthf 
miof;fg;gLk; 
a. fhy;rpak; fhh;gNdl; gbfq;fs;  b. fhy;rpak; Mf;]Nyl; gbfq;fs; 
c. nkf;dPrpak; ry;Ngl; gbfq;fs;   d. nfhj;jhd gbfq;fs; 
e. tpil njhpatpy;iy 

 
7. First Indian Woman to win two gold in single Asian Para Games 

__________ 
a. Thulasimathi   b. Sheetal Devi   c. Mandeep Kaur 
d. Lakshmi   e. Answer not known 
xNu Mrpa ghuh tpisahl;Lg; Nghl;bapy; ,uz;L jq;fk; ntd;w Kjy; 
,e;jpag; ngz; __________ 
a. Jsrpkjp   b. rPj;jy; Njtp   c. ke;jPg; nfsh; 
d. yl;Rkp    e. tpil njhpatpy;;iy 

 

8. Which of the following facts are correct about prokaryotic cells? 
I. Prominent nucleus is absent 
II. Nucleolus is present  
III. Mitosis and meiosis cell divisions take place 
IV. Membrane bound cell organelles are absent 
a. I and II are correct  b. I and IV are correct    c. II and III are correct 
d. III and IV are correct e. Answer not known 
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gpd;tUk; GNuhNfhpahl; nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ  
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ  
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
a. I kw;Wk; II rhp b. I kw;Wk; IV rhp  c. II kw;Wk; III rhp  
d. III kw;Wk; IV rhp e. tpil njhpatpy;iy 

 

9. Mangrove plants meet high osmotic pressure in the soil, they overcome 
the problem of water uptake by 
a. accumulation of electrolytes in the vacuole of the cell 
b. increase in the root and shoot ratio 
c. reduce the respiration rate 
d. reduce the transpiration rate 
e. Answer not known 
khq;F&t; jhtuq;fs; kz;zpYs;s mjpfg;gbahd rt;t+L guty; 
mOj;jj;ij vjph; nfhs;fpd;wd.  ePh; cwpQ;Rjiy rhpnra;a mit  
a. vyf;l;Nuhiyl;Lfis nry;ypd; fhw;W ntw;wplq;fspy; Ftpf;fpd;wd. 
b. Nth; kw;Wk; jz;L tpfpjj;ij mjpfhpf;fpd;wd.  
c. Rthr msit Fiwf;fpd;wd 
d. ePuhtpg; Nghf;fpd; msit Fiwf;fpd;wd 
e. tpil njhpatpy;iy 

 

10. Identify the correct pair 
a. Nucleoside - Nitrogen base + Phosphate  
b. Pyrimidines – Cytosine and sugar 
c. Purines – Adenine and Guanine 
d. Nucleotide – Nucleoside + sugar  
e. Answer not known 
rhpahd ,iziaf; fz;Lgpb. 
a. epa+f;spNahirL - iel;u[d; fhuk; + gh];Ngl; 
b. gphpkpbd;fs;  - irl;Nlhrpd; kw;Wk; rh;f;fiu 
c. gpa+hpd;fs;  - mbidd; kw;Wk; Fthidd; 
d. epa+f;spNahilL - epa+f;dpNahirL + rh;f;fiu 
e. tpil njhpatpy;iy 
 

11. The enzyme involved in unwinding of DNA is 
a. Telomerase   b. Helicase   c. Polymerase 
d. Ligase    e. Answer not known 
DNA it ,uz;L ,iofshf gphpg;gjpy; <LgLk; nehjp ahJ? 
a. nlNyhkNu];   b. n`ypNf];  c. ghypnkNu]; 
d. ypNf];    e. tpil njhpatpy;iy 
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12. The basis of life is 
a. Amino acids   b. Proteins   c. Lipoproteins    
d. Nucleic acids   e. Answer not known 
caphpd; mbg;gil %yk; vd;gJ 
a. mkpNdh mkpyq;fs; b. Gujq;fs;  c. nfhOg;G Gujq;fs; 
d. fUtkpyq;fs;  e. tpil njhpatpy;iy 
 

13. The site for Kreb’s cycle is 
a. Grana of Chloroplasts  b. Matrix of Mitochondrian 
c. Stroma of Chloroplast  d. Inner Mitochondrial membrane 
e. Answer not known 
fpnug;]; Row;rp eilngWk; gFjp 
a. gRq;fzpfj;jpd; fpuhdq;fs; b. ikl;Nlhfhz;l;hpaj;jpd; Nkl;hpf;]; 
c. gRq;fzpfj;jpd; ];l;Nuhkh d. ikl;Nlhfhz;l;hpaj;jpd; cs; rt;T 
e. tpil njhpatpy;iy 

 

14. According to Valluvar what signifies relationship? 
a. people’s body  b. good characters  c. good education 
d. good friendship   e. answer not known 
vJ xj;jpUj;jy; xg;ghFk; vd;W ts;Sth; $Wfpwhh;? 
a. kf;fspd; clk;G  b. epiwe;j gz;Gfs;   
c. xspnghUe;jpa fy;tp d. Nkd;ik nghUe;jpa el;G  

 

15. Find the sum of the series : 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
njhlhpd; $Ljy; fhz;. 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
a. 1470 b. 1540 c. 1570 d. 1370   e. tpil njhpatpy;iy 

 

16. Choose incorrect pair regarding national games 
i. 36th – Goa    ii. 37th – Gujarat iii. 35th – Kerala   iv. 38th – Uttarakhand 
a. i, ii  b. iii, iv c. i, ii, iv d. All of these e. Answer not known 
Njrpa tpisahl;L njhlh;ghd jtwhd ,iziaf; fhz;f 
i. 36tJ – Nfhth  ii. 37tJ – F[uhj; 
iii. 35tJ – Nfush  iv. 38tJ – cj;juhfz;l; 
a. i, ii  b. iii, iv   c. i, ii, iv  d. ,it midj;Jk; e. tpil njhpatpyiy 

 

17. Identify the incorrect statement with reference to Prokaryotic cell. 
a. Lack of membrane bound genetic material 
b. Presence of 70S Ribosomes 
c. Presence of Mesosomes 
d. Presence of membrane bound organelles like chloroplast and 

mitochondria 
e. Answer not known 
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g;NuhNfhpahl;bf; nry; Fwpj;J jtwhd $w;wpid fz;Lgpbf;fTk;. 
a. rt;tpdhy; #og;gl;l kugZg; nghUs; fpilahJ. 
b. 70S tif iuNghNrhk;fs; fhzg;gLfpwJ. 
c. kPNrhNrhk;fs; fhzg;gLfpwJ. 
d. rt;tpdhy; #og;gl;l nry; cWg;Gfshd gRq;fzpfk; kw;Wk; 

ikl;Nlhfhz;bhpah fhzg;gLfpwJ. 
e. tpil njhpatpy;iy 

 
18. Xylem tissue is composed of  

a. Tracheids, Fibres and Companion Cells 
b. Tracheids, Vessels and Sieve Elements 
c. Tracheids, Parenchyma, Fibres and Companion Cells 
d. Tracheids, Fibres, Vessels and Parenchyma 
e. Answer not known 
iryk; jpR _________ MdJ. 
a. buf;fPLfs;> ehh;nry;fs; kw;Wk; Jiz nry;fs;     
b. buf;fPLfs;> nt]y;fs; kw;Wk; ry;yil nry;fs; 
c. buf;fPLfs;> ghud;ifkh> ehh;nry;fs; kw;Wk; Jiz nry;fs; 
d. buf;fPLfs;> ehh;nry;fs;> nt]y;fs; kw;Wk; ghud;ifkh   
e. tpil njhpatpy;iy 

 

19. The chief function of Velamen tissue in plants 
a. Storage of food materials b. Absorption of moisture from air 
c. Synthesise of food materials d. Conduction of food material 
e. Answer not known 
jhtuq;fspy; Ntynkd; jpRtpd; Kf;fpa gzp 
a. czTg; nghUl;fis Nrkpg;Gj   b. fhw;wpypUe;J <ug;gjj;ij cWQ;RtJ 
c. czTg; nghUl;fis jahhpg;gJ d. czTg; nghUl;fis flj;JtJ   
e. tpil njhpatpy;iy 

 

20. Assertion [A]: Bryophytic plants are prevent soil erosion. Economically 
Sphagnam is more valuable. 
Reason [R]: Sphagnam can absorb large amount of water, hence it is used 
by the gardeners in nursery. Peat is a valuable fuel like coal is obtained 
from Sphagnam. 
a. [A] is true but [R] is false 
b. [A] is false, [R] is true 
c. Both [A] and [R] are true and [R] is the correct explanation of [A] 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: gpiuNahigl; jhtuq;fs; kz; mhpg;igj; jLf;fpwJ. ];Ngf;dk; 
mjpf nghUshjhu kjpg;Gilait 
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fhuzk; [R]: ];Ngf;dk; mjpf ePiu cwpQ;rf;$baJ vdNt gz;iz 
ehw;whq;fhy;fspy; gad;gLj;jg;gLfpwJ. gPl; vd;w epyf;fhpiag; Nghd;w 
tpiy kjpg;Gila vhpnghUs; ];Ngf;dj;jpypUe;J fpilf;fpwJ 
a. $w;W [A] rhp> Mdhy; fhuzk; [R] jtW 
b. $w;W [A] jtW> Mdhy; fhuzk; [R] rhp 
c. $w;W [A], fhuzk; [R] ,uz;Lk; rhpahdit> fhuzk; [R] $w;W [A] f;F 

rhpahd tpsf;fk; 
d. $w;W [A]> fhuzk; [R] ,uz;Lk; rhpahdit> Mdhy; fhuzk; [R] $w;W 

[A] f;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 

21. Who among the following persons first discovered an alternate pathway 
for the utilization of glucose by living cells 
a. Embden  b. Dickens    c. T. D. Lysenko   
d. Bateson  e. Answer not known 
gpd;tUk; egh;fspy; vth; xUth;> capUs;s nry;fs; FSf;Nfhir khw;W 
topapYk; gad;gLj;Jfpd;wd vd;gij Kjypy; fz;Lgpbj;jhh;? 
a. vk;ld;    b. bf;fd;];    c. T. D. iynrd;Nfh   
d. Ngl;rd;  e. tpil njhpatpy;iy 

 

22. Consider the following 
Assertion (A) : The eukaryotic cells have four kinds of rRNA         
molecules namely 28 S rRNA , 18 S rRNA, 5.8 S rRNA and 5 S rRNA. 
Reason (R) : The 28 S rRNA, 5.8 S rRNA and 5  S rRNA occur in 60            
S ribosomal subunit while 18 S rRNA occurs in 40 S   ribosomal subunit 
of 80 S ribosomes of eukaryotes. 
Choose the correct answer:  
a. Both (A) and (R) are individually correct and (R) is the correct 

explanation of (A) 
b. Both (A) and (R) are individually correct but (R) is not a correct 

explanation of (A) 
c. (A) is correct but (R) is false. 
d. (A) is false but (R) is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W  (A) :a+NfhpNahl;bf; nry;fs; ehd;F tpjkhd rRNA %yf;$Wfis 
nfhz;Ls;sJ mit 28 S rRNA , 18 S rRNA, 5.8 S rRNA kw;Wk; 5 S 
rRNA. 
fhuzk; (R) : a+NfhpNahl;by; 28 S rRNA, 5.8 S rRNA kw;Wk; 5 S rRNA 
%yf;$Wfs; 60S iuNghNrhk;fs; gFg;gpYk; kw;Wk; 18 S rRNA (80 S 
iuNghNrhk;fspd; Jiz myfhFk;) 40 S iuNghNrhk;fspd; gFg;gpYk; 
fhzg;gLfpwJ. 
 



 

7 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

a. (A) kw;Wk; (R) ,uz;LNk rhp NkYk; vd;gJ tpw;F rhpahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;LNk rhp NkYk; vd;gJ tpw;F rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy  

 

23. Choose correct pair regarding Asian Games 2023 medal winners 
i. Praveen Chitravel – Triple Jump – Bronze 
ii. Annu Rani – Javelin throw – Gold 
iii. Parul Chaudary – 5000 m – Gold 
iv. Ancy Sojan – Long Jump – Silver 
a. i, ii  b. ii, iv c. i, ii, iv d. All of these e. Answer not known 
Mrpa tpisahl;Lg;Nghl;bfs;; 2023 gjf;fk; ntd;wth;fs; njhlh;ghd 
rhpahd ,iziaf; fhz;f 
i. gputPd; rpj;jpuNty; - l;hpgps; [k;g; - ntz;fyk; 
ii. md;D uhzp – <l;b vwpjy; – jq;fk; 
iii. gUs; nrsj;hp – 5000 kP – jq;fk; 
iv. md;rp Nrh[d; - ePsk; jhz;Ljy; - nts;sp 
a. i, ii     b. ii, iv    c. i, ii, iv   
d. ,it midj;Jk;   d. tpil njhpatpy;iy 

 

24. In sperm acrosome produces hyaluronidase enzyme. The acrosome is 
modification of  
a. Lysosome  b. Ribosome   c. Golgi apparatus  

d. Mitochondria  e. Answer not known 
tpe;J nry;ypy; `aYNuhepNl]; vDk; nehjpia Ruf;Fk; mf;NuhNrhk; 
vjDila khWghL 
a. iyNrhNrhk;  b. iuNghNrhk;   c. Nfhy;if cWg;G  

d. ikl;NlhNfhd;l;hpah e. tpil njhpatpy;iy 
 
25. Reduced leaves and Sunken  Stomata are the characteristic features of 

a. Epiphytes   b. Hydrophytes  c. Mesophytes   
d. Xerophytes   e. Answer not known 
xLf;fg;gl;l ,iyfs; kw;Wk; kiwtpl ,iyj;Jisfs; vtw;wpd; 
Fzhjpra gz;GfshFk;? 
a. njhw;Wj;jhtuq;fs;  b. ePh;tho;j; jhtuq;fs;   c. ,ilepiyj; jhtuq;fs; 
d. tws; epyj; jhtuq;fs; e. tpil njhpatpy;iy 

 
26. Golden rice is a genetically modified crop, where the incorporated gene 

is meant for biosynthesis of 
a. Vitamin A  b. Vitamin B   c. Vitamin C   
d. Vitamin D  e. Answer not known 
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Nfhy;ld; mhprp vd;gJ xU kugZ khw;wg;gl;l gaph; MFk;. ,jpy; 
xUq;fpize;j kugZ vjd; caphpa nrwpTf;fhdJ. 
a. tpl;lkpd; A  b. tpl;lkpd; B   c. tpl;lkpd; C  
d. tpl;lkpd; D  e. tpil njhpatpy;iy 

 
27. Consider the following statements 

Siamese twins means  
1. Twins fail to separate completely from each other  
2. Twins have no variability 
a. 1 is correct and 2 is wrong  b. 1 is wrong and 2 is correct 
c. Both 1 and 2 are correct   d. Both 1 and 2 are wrong  
e. Answer not known 
fPo;fz;l thf;fpaq;fis ftdp 
rpakp]; ,ul;ilah; vd;gJ 
1. ,ul;ilah;fs; xUthplkpUe;j xUth; KOikahf gphpahjpUj;jy; 
2. ,ul;ilah;fspilNa NtWghL fhzg;gLtjpy;iy. 
rhpahd tpilia Njh;e;njLf;fTk;. 
rhp jtW kw;Wk; 
a. 1 rhp 2 jtW   b. 1 jtW 2 rhp  c. 1 kw;Wk;2 rhp  
d. 1 kw;Wk; 2 jtW  e. tpil njhpatpy;iy 

 

28. A codon is a sequence of 3 nucleotides present in,  
a. t-RNA b. m-RNA c. r-RNA d. hn- RNA e. Answer not known 
Nfhlhd; vd;gJ vjd; njhlhpy; cs;s %d;W epa+f;spNahilLfs; MFk;? 
a. b.Mh;.vd;.V  b. vk;.Mh;.vd;.V   c.Mh;.Mh;.vd;.V   
d. vr;.vd;.Mh;.vd;.V e. tpil njhpatpy;iy 

 

29. Match the following 
A. xsp   1. Similar 
B. ghL   2. Suffer  
C. ,d;dh   3. Glory 
D. md;dhh;   4. Pride 
 

nghUj;Jf 
A. xsp   1. xj;jth; 
B. ghL   2. Jd;gk; 
C. ,d;dh   3. Gfo; 
D. md;dhh;  4. ngUik 

A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 2 4 1 
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30. Sixty-Five percent of a number is 21 less than four fifths of that number. 
What is the number? 

Xh; vz;zpd; 
4

5
d; gq;fpw;Fk; mNj vz;zpd; 65%-f;Fk; cs;s tpj;jpahrk; 

21 vdpy; me;j vz; vd;d? 
a. 140 b. 150 c. 135          d. 120  e. Answer not known 

 
31. Consider the following statement, choose the correct answer from the 

code given below. 
Assertion (A) : They discovered the relationship between genes and 
enzymes in fugus Neurospora. 
Reason (R) : Beadle and Tatum were awarded Nobel Prize. 
a. (A) and (R) are correct and (R) is the correct explanation of (A) 
b. (A) alone is correct (R) is incorrect 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
fPo;fhZk; thf;fpaq;fis mbg;gilahf nfhz;L rhpahdij Njh;T 
nra;f. 
$w;W (A) : [Pd;fSf;Fk; nehjpfSf;Fk; ,ilNa cs;s njhlh;gpid 
,th;fs; epA+Nuh];Nghuh vd;w G+Q;irapy; fz;lwpe;jdh;. 
fhuzk; (R): gPby; kw;Wk; lhl;lk; vd;gth;fSf;F Nehgy; ghpR 
toq;fg;gl;lJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp (R)> (A) cila rhpahd tpsf;fkhFk;. 
b. (A) kl;Lk; rhp (R) jtW 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp (R)> (A) cila rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
32. Choose correct statement regarding Global Innovation Index (GII) 2023 

i. GII is released by World Bank 
ii. India is ranked 40th in 2023 
iii. India was 81st rank in 2015 
a. i, ii, iii b. ii, iii c. ii alone d. i, iii e. Answer not known 
cyf Gj;jhf;ff; FwpaPL (GII) – 2023 Fwpj;j rhpahd $w;Wfis 
fz;lwpf 
i. GII cyf tq;fpahy; ntspaplg;gLfpwJ  
ii. 2023,y; ,e;jpah 40tJ ,lk;gpbj;Js;sJ 
iii. 2015,y; ,e;jpah 81tJ ,lk;gpbj;jJ 
a. i, ii, iii b. ii, iii c. ii alone d. i, iii e. tpil njhpatpy;iy 
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33. The principal function of centromere is 
a. Centrosome splitting   
b. Formation of spindle fibres 
c. DNA duplication   
d. Movement of chromosomes to poles 
e. Answer not known 
nrd;l;Nuhkpahpd; Kjd;ikg; gzpahdJ 
a. nrd;l;NuhNrhk; gpsTWjy; 
b. fjph;f;Nfhy; ,iofs; cUthf;fk; 
c. b.vd;.V. ,ul;bg;ghjy; 
d. FNuhNkhNrhk;fs; JUtq;fSf;F efh;jy; 
e. tpil njhpatpy;iy 

 
34. Rejection does not occur, when tissues of organs are transplanted from  

1. Same individual  2. Identical twins  3. Two different species  
a. 1 alone    b. 2 alone     c. 1 and 2   
d. 3 alone    e. Answer not known 
jpR my;yJ cWg;G khw;wk; nra;Ak;NghJ vt;tifahditfis 
Vw;Wf;nfhs;Sk;? 
1. xNu caphpdj;jpy; ,Ue;J vLf;fg;gLk;NghJ  
2. xj;j ,ul;ilah;fsplkpUe;J vLf;Fk; NghJ  
3. ,UNtWg;gl;l caphpdq;fspypUe;J vLf;Fk;NghJ  
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp   c. 1 kw;Wk; 2 rhp   
d. 3 kl;Lk; rhp   e. tpil njhpatpy;iy 

 
35. The Process of transfer of genetic information from DNA to RNA is 

a. Translocation  b. Transversion   c. Transcription   
d. Translation  e. Answer not known 
kugpd jfty;fis DNA tpypUe;J RNA tpw;F khw;Wk; nray;.  
a. l;uhd;];nyhNf~d; b. l;uhd;];nth;~d;  c. l;uhd;];fphpg;~d;  
d. l;uhd;];Ny~d;  e. tpil njhpatpy;iy 

 
36. Functional unit of a gene is called as  

a. Cistron   b. Recon  c. Muton d. Codon e. Answer not known 
[Pdpd; nray;ghl;L myF MdJ 
a. rp];l;uhd; b. hPf;fhd;    c. kpa+l;lhd;   
d. Nfhlhd;  e. tpil njhpatpy;iy 

 
37. A sudden change of a gene or chromosome from one form to another is 

called 
a. Deletion   b. Duplication        c. Mutation 
d. Inversion  e. Answer not known 
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kugZf;fs; kw;Wk; FNuhNkhNrhk;fspy; Vw;gLk; jpBh; khw;wk; 
miof;fg;gLtJ  
a. ,oj;jy;   b. gd;klq;fhjy;   c. rLjp khw;wk;  
d. jiyfPohjy;  e. tpil njhpatpy;iy  

 
38. In which animal the polytene chromosomes were discovered for the first 

time? 
a. Fruit fly   b. Drosophila   c. Chironomous 
d. Housefly  e. Answer not known 
ve;j caphpdj;jpy; Kjd; Kjypy; ghypBd; FNuhNkhNrhk;fs; 
fz;lwpag;gl;lJ? 
a. goG+r;rp   b. bNuhNrhigyh  c. ifNuhdhk]; 
d. tPl;L <   e. tpil njhpatpy;iy 

 
39. Barr body is  

a. Activated ‘X’ chromosome  b. Inactivated golgi complex 
c. Inactivated ‘X’ chromosome   d. Inactivated dictyosome 
e. Answer not known  
ghh; cWg;G vd;gJ 
a. nray; epiyapy; cs;s ‘X’ FNuhNkhNrhk;   
b. nray;glhj Nfhy;if $l;L nghUs; 
c. nray;glhj ‘X’  FNuhNkhNrhk;    
d. nray;glhj bf;bNahNrhk; 
e.  tpil njhpatpy;iy 

 
40. World Energy outlook report is released by _______ 

a. International Energy Agency  b. World Bank 
c. Indian Energy Agency   d. None of these 
e. Answer not known 
cyf Mw;wy; fz;Nzhl;lk; mwpf;ifia ntspapLtJ ___________ 
a. rh;tNjr Mw;wy; Kfik   b. cyf tq;fp 
c. ,e;jpa Mw;wy; Kfik   d. ,it midj;Jk; 
e. tpil njhpatpy;iy 

 

41. The genotypic ratio for monohybrid cross is 
a. 3:1  b. 9:7  c. 1:2:1 d. 9:3:3:1  e. Answer not known 
xU gz;G fyg;gpd; [Pdhf;f tpfpjk; vJ? 
a. 3:1  b. 9:7  c. 1:2:1 d. 9:3:3:1  e. tpil njhpatpy;iy 

 
42. Which of the following is incorrectly paired? 

1. Monosomy - 2n – 2   2. Trisomy - 2n + 1 
3. Tetrasomy - 2n + 2   4. Nullisomy - 2n + 3 
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a. 1 and 2   b. 1 and 3     c. 2 and 4  
d. 1 and 4   e. Answer not known 
fPo;fz;ltw;Ws; vJ rhpahd ,izay;y? 
1. NkhNdhNrhkp - 2n – 2  2. biuNrhkp - 2n + 1 
3. nll;uhNrhkp - 2n + 2  4. ey;ypNrhkp - 2n + 3 
a. 1 kw;Wk; 2  b. 1 kw;Wk; 3   c. 2 kw;Wk; 4 
d. 1 kw;Wk; 4  e.  tpil njhpatpy;iy 

 
43. Duplication of mitochondrial DNA takes place during 

a. G1 – phase  b. S – phase   c. G2 – phase 
d. G0 – state  e. Answer not known 
ve;j epiyapy; ikl;Nlhfhz;bhpahtpd; DNA ,ul;bf;fpd;wJ? 
a. G1 – epiy  b. S – epiy   c. G2 – epiy 
d. G0 – epiy  e. tpil njhpatpy;iy 

 
44. karumaththaal naaNudhal naaNunh thirunhudhal 

nallavar naaNup piRa 
In this Kural the term Nudhal means 
a. eye b. forehead c. lips d. ears e. answer not known 
fUkj;jhy; ehZjy; ehZe; jpUEjy;  
ey;yth; ehZg; gpw - vd;w Fwspy; tUk; "Ejy;" vd;w nrhy;;ypd; nghUs; 
vd;d?  
a. fz;  b. new;wp c. cjL d. nrtp   e. tpil njhpatpy;iy 

 

45. One number is seven times another. If their difference is 18, find the 
numbers. 
Xh; vz; kw;Nwhh; vz;zpd; 7 klq;F MFk;. mtw;wpd; tpj;jpahrk; 18 
vdpy;> mt;ntz;fisf; fhz;f 
a. 3 & 21  b. 4 & 28 c. 7 & 23     d. 5 & 35 e. tpilnjhpatpy;iy 

 

46. The ‘Operon model’ for Gene regulation was proposed by  
a. Messelson and Stahl b. Watson and Crick  c. Jacob and Monod  
d. Avery and McCleoid  e. Answer not known 
kugZ ntspg;ghl;il newpg;gLj;JjYf;fhd ‘xg;gud; khjphpia’ 
Kd;nkhope;jth; 
a. kpry;rd; kw;Wk; ];lhy;  b. thl;rd; kw;Wk; fphpf;  
c. N[f;fg; kw;Wk; NkhdhL  d. Vthp kw;Wk; nkf;ypaha;L 
e. tpil njhpatpy;iy 

 

47. The ulcer is mostly due to infections by a bacterium called  
a. Helicobacter  pylori  b. Strepto cocci  
c. Staphylo cocci   d. Mycibacterium tuberculosis 
e. Answer not known 
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ngUk;ghYk; Fly; Gz; Njhd;w fhuzkhd ghf;Bhpak;  
a. n`ypf;NfhNgf;lh; igNyhhp b. ];nug;Nlh fhf;if  
c. ];nligNyh fhf;if   d. ikf;Nfhghf;Bhpak; bA+gh;FNyhr]; 
e. tpil njhpatpy;iy 

 

48. In human, which types of cells are affected by Malarial parasite? 
a. Liver cell and RBC    b. RBC and WBC c. RBC and Th cells  
d. RBC and Epithelial cells  e. Answer not known 
kdpjdpy;> kNyhpah xl;Lz;zpapdhy; ve;j tif nry;fs; 
ghjpf;fg;gLfpwJ? 
a. fy;yPuy; nry; kw;Wk; ,uj;j rptg;G mZf;fs;  
b. ,uj;j rptg;G mZf;fs; kw;Wk; ,uj;j nts;isaZf;fs; 
c. ,uj;j rptg;G mZf;fs; kw;Wk; TH nry;fs;  
d. ,uj;j rptg;G mZf;fs; kw;Wk; vgpnlh;kp]; nry;fs; 
e. tpil njhpatpy;iy  

 

49. The drug most widely used against AIDS virus is 
a. Zidorudine  b. Miconozole   c. Nonxylol   
d. Virazole  e. Answer not known 
AIDS caph;nfhy;yp itu];f;F vjpuhf gad;gLj;jgLk; kUe;jpd; ngah; 
a. irNlh&bd;   b. ikNfhNdhNrhy;     c. NehNdhiryhy;    
d. tpuNrhy;   e. tpil njhpatpy;iy 

 

50. Choose correct statement regarding M.S. Gill 
i. 11th Chief Election Commissioner of India 
ii. He succeeded T.N. Seshan as CEC of India 
iii. He conducted general elections to 12 and 13th Loksabha 
iv. Padma Vibushan Awardee – 2000 
a. i, iv b. i, ii, iv c. ii, iii, iv d. All of these e. Answer not known 
M.S. fpy; Fwpj;j rhpahd $w;Wfis fz;lwpf 
i. 11tJ ,e;jpa jiyik Njh;jy; Mizah;  
ii. ,th; b.vd;. Nr~Df;F gpwF ,e;jpa jiyik Njh;jy; Mizauhf 

gjtpNaw;wth; 
iii. ,th; kf;fsitapd; 12 kw;Wk; 13tJ nghJ Njh;jy;fis elj;jpdhh; 
iv. 2000 Mk; Mz;L gj;k tpg+~d; tpUJ ngw;wth; 
a. i, iv  b. i, ii, iv c. ii, iii, iv d. ,it midj;Jk; e. tpil njhpatpy;iy 

 

51. The deficiency of vitamin "A" causes 
 a. Hair to fall  b. Dysentery   c. Night blindness   
 d. Weakness  e. Answer not known 
 caph;rj;J tpl;lkpd; "A" FiwghL vij Vw;gLj;JfpwJ?  
 a. Kb cjpu;jy;  b. tapw;W Nghf;F   c. khiyfz; Neha;   

d. Nrhh;T    e. tpil njhpatpy;iy 
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52. Haemophilia is a human disease caused by 
a. Bacterial infection  b. fungal infection  c. Mutant gene  
d. viral infection  e. Answer not known 
`PNkhgPypah vd;fpw ,uj;j xOfy; Neha; vjdhy; Vw;gLfpwJ?  
a. ghf;Bhpah njhw;W %yk;  b. G+Q;ir njhw;W %yk;  
c. jpBh; khw;wk; %yk;   d. ituy; njhw;W %yk;  
e. tpil njhpatpy;iy 

 

53. Statement: For a person fitted with artificial pacemaker after about 7 
years battery for the pacemaker was replaced by surgery. 
Reason: The pacemaker lithium battery lasts for 6 to 8 years. 
a. Statement correct and Reason is wrong 
b. Statement and reason are correct and the reason is not explaining the 

statement 
c. Statement and reason are correct and the reason explains the 

statement 
d. Statement and reason are wrong 
e. Answer not known 
$w;W: nraw;if Ng]; Nkf;fh; nghUj;jg;gl;l xUtUf;F Vwf;Fiwa 7 
Mz;LfSf;F gpwF mWit rpfpr;ir %yk; Ng]; Nkf;fUf;fhd 
ghl;lhpapid kUj;Jth; khw;wp nghUj;Jfpd;whh; 
fhuzk;: Ng]; Nkf;fhpy; cs;s ypj;jpak; ghl;lhp 6 Mz;Lfs; Kjy; 8 
Mz;Lfs; tiu nray;glf;$baJ. 
a. $w;W rhp fhuzk; jtW  
b. $w;W rhp fhuzk; rhp Mdhy; fhuzk; $w;iw tpsf;ftpy;iy 
c. $w;W rhp fhuzk; rhp fhuzk; $w;iw tpsf;FfpwJ. 
d. $w;W jtW fhuzk; jtW 
e. tpil njhpatpy;iy 

 

54. It is the inability to recall memories from the past 
a. Stroke   b. Amnesia  c. Alzheimer’s disease  
d. Meningitis  e. Answer not known 
,e;Neha; fz;lth;fs; fle;j fhy epfo;Tfis epidT $w ,ayhJ 
a. gf;fthjk;  b. mk;dPrpah  c. my;]Pkh; Neha;  
d. %isf; fha;r;ry; e. tpil njhpatpy;iy 

 

55. Match the Following: 
List I                 List II 
A. Hemophilia   1. Female 
B. Y - Linked   2. Christmas disease 
C. Barr bodies   3. Down Syndrome 
D. Trisomy   4. Holandric gene 
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nghUj;Jf:  
gl;bay; I      gl;bay; II 
A. `pNkh gpypah   1. ngz;  
B. Y - ,izg;G    2. FNuhNkhNrhk;fs; 
C. ghh;ghb     3. nlsd;]; Neha; Fwpj;njhFg;G 
D. biuNrhkp    4. N`hyhd;hpf; [Pd; 

A B C D 
a.  4 3 2 1 
b.  3 4 1 2 
c.  1 2 4 3 
d.  2 4 1 3  e. tpil njhpatpy;iy 

 

56. Kala –azar is caused by 
a. Plasmodium vivax   b. Leishmania donovani 
c. Leishmania tropica   d. Trypnosoma gambiens 
e. Answer not known 
fhyh mrh; Neha;f; fhuzp  
a. gpsh];Nkhbak; itthf;];   b. yP];Nkdpah Nlhdhthdp   
c. yP];Nkdpah buhgpf;fh    d. bhpg;gNdhNrhkh Nfk;gpad;]; 
e. tpil njhpatpy;iy 

 

57. Choose incorrect pair 
a. October 6 – World Cerebral Palsy Day 
b. October 7 – Javelin Day 
c. October 8 – World Dyslexia Day 
d. October 4 to 10 – World Space Week 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. mf;Nlhgh; 6 – cyf ngU%is thjk; jpdk; 
b. mf;Nlhgh; 7 – <l;b vwpjy; jpdk; 
c. mf;Nlhgh; 8 – cyf fw;wy; FiwghL jpdk; 
d. mf;Nlhgh; 4 Kjy; 10 – cyf tpz;ntsp thuk; 
e. tpil njhpatpy;iy 

 

58. What is the characteristic features of colour-blindness – Given below. 
a. Absence of rod cells in retina   
b. Absence of cone cells in retina 
c. Absence of lusture in lens   
d. Lack of colour pigments in the Eye 
e. Answer not known 
epwf;FUL Vw;gLtjw;F fhuzk; 
a. fz;;tpopj;jpiuapy; Fr;rp nry; ,y;yhjjhy; 
b. fz;tpopj;jpiuapy; $k;G nry; ,y;yhjjhy; 
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c. nyd;rpy; <ug;gjk; ,y;yhjjhy;   
d. fz;fspy; epwkpfs; ,y;yhjjhy; 
e. tpil njhpatpy;iy 
 

59. According to Thiruvalluvar what is the ornament of nobleman? 
a. The indolence of the mind in despicable acts 
b. Learning books to replenish knowledge 
c. The energy of knowing in advance what is going to happen in the 

future 
d. Telling others to understand the important message easily 
e. Answer not known 
rhd;Nwhh;f;F mzpfykhtJ ahJ vd;W jpUts;Sth; $Wfpwhh;?  
a. ,op njhopy;fspy; kde;nry;yhik  
b. mwpT epuk;Gtjw;Ff; fhuzkhd E}y;fis fw;wy;  
c. vjph;fhyj;jpy; epfog;Nghtij Kd;Nd vz;zp mwpaf;$ba Mw;wy;  
d. mhpa nra;jpia vspikahf gpwh;kdk; nfhs;sj; njspthff; $wf;$ba 

Mw;wy;  
e. tpil njhpatpy;iy 

 

60. The highest number which divides the product of any three consecutive 
even natural number is 
mLj;jLj;j %d;W ,ul;il ,ay; vz;fspd; ngUf;fiy tFf;Fk; 
kpfg;nghpa vz;  
a. 2  b. 4  c. 8  d. 16  e. tpil njhpatpy;iy  

 

61. Which of the following is the symptom of the protein deficiency 
disorder, ‘Kwashiorkor’? 
a. Muscle wasting   b. Pigeon Chest    c. Burning feet   
d. Pot – belly    e. Answer not known 
gpd;tUtdtw;Ws; Gujr; rj;J Fiwghlhd Fth~pahfh;’ Nehapd;; mwpFwp 
ahJ?  
a. jir RUf;fk;   b. Gwh khh;G $L   c. ghj vhpr;ry;   
d. ghid Nghd;w tapW e. tpil njhpatpy;iy 

 

62. Match the following: 
A. Beriberi    1. Vitamin C 
B. Pellagra    2. Vitamin B1 
C. Scurvy    3. Vitamin D 
D. Rickets    4. Vitamin B3 
A. nghpnghp     1. itl;lkpd; C  
B. ngy;yhf;uh   2. itl;lkpd; B1 
C.];fh;tp    3. itl;lkpd; D 
D. Hpf;nfl;];    4. itl;lkpd;B3 
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A B C D 
a.  4 3 2 1 
b.  2 4 1 3 
c.  1 3 4 2 
d.  3 2 1 4  e. tpil njhpatpy;iy 

 

63. The presence of abnormal amount of sugar in urine referred as  
a. Poluria   b. Nocturia   c. Hyperglycemia  
d. Glycosuria  e. Answer not known 
rpWePupy; mjpfkhd msT rh;f;fiu fhzg;gLtJ 
a. ghypa+hpah  b. ehf;ba+hpah   c. i`g;gh;fpisrPkpah  
d. fpisf;Nfh];a+hpah e. tpil njhpatpy;iy 

 

64. Sickle-cell anemia is due to 
a. Viruses   b. Genes    c. Hormones   
d. Bacteria   e. Answer not known 
mhpths; nry; mdpkpahtpw;f;F fhuzkhf ,Ug;gJ  
a. itu];fs;  b. [Pd;fs;    c. `hh;Nkhd;fs;   
d. ghf;Bhpahf;fs;  e. tpil njhpatpy;iy 

 

65. Swine Flu is cause by 
a. Rubella virus  b. Rhino virus   c. H1N1 virus   
d. Alpha virus  e. Answer not known 
gd;wp fha;r;riy cUthf;Fk; itu]; 
a. Ugy;yh itu]; b. iuNdh itu];  c. H1N1 itu];   
d. My;/gh itu]; e. tpil njhpatpy;iy 

 

66. Which of the following statements are true of Leucoderma 
1. It is a non- communicable disease 
2. It is a skin disease that causes loss of skin pigmentation 
3. There is no cure 
a. 1 and 2 b. 2 and 3 c. 1 and 3 d. 1, 2 and 3 e. Answer not known 
gpd;tUtdtw;wpy; YNfhnlh;kh my;yJ ntz;Neha; gw;wpa cz;ik 
fUj;J vit? 
1. ,J xU njhw;whj Neha; 
2. ,J Njhy; epwkp ,og;ig Vw;gLj;Jk; xU Njhy; Neha; 
3. ,e;Neha;f;F  rpfpr;ir mspf;f KbahJ  
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

67. Choose correct pairs 
i. World Polio Day and UN Day is observed on – October 24 
ii. World Food Day – October 16 
iii. World Student Day – October 15 
iv. International Poverty Eradication day – October 18 
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a. i, ii  b. i, ii, iii c. ii, iii d. All of these e. Answer not known 
rhpahd ,iziaf; fhz;f 
i. cyf NghypNah jpdk; kw;Wk; I.eh jpdk; mDrhpf;fg;gLk; ehs; - 

mf;Nlhgh; 24 
ii. cyf czT jpdk; - mf;Nlhgh; 16 
iii. cyf khzth; jpdk; - mf;Nlhgh; 15 
iv. rh;tNjr tWik xopg;G jpdk; - mf;Nlhgh; 18 
a. i, ii    b. i, ii, iii    c. ii, iii 
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 

68. Match  list  1 and list 2  
List 1     List 2   
A. Diabetes    1. Immunisation 
B. Marasmus    2. Blood vascular treatment 
C. Booster doses   3. Protein deficiency  
D. Angioplasty    4. Insulin 
nghUj;Jf 
gl;bay; 1     gl;bay; 2; 
A. ePhpopT        1. jLg;g+rp jpl;lk; 
B. kuh];k];      2. ,uj;jf; Foha; rpfpr;ir 
C. ca&l;l kUe;J    3. Guj FiwghL 
D. MQ;rpNahgpsh];b    4. ,d;Rypd;  

A B C D 
a.  4 3 1 2 
b.  2 1 3 4 
c.  3 2 1 4 
d.  4 1 3 2  e. tpil njhpatpy;iy 

 

69. Cancer of the epithelial cells is called 
a. Leukemia  b. Sarcoma   c. Carcinoma 
d. Lepoma   e. Answer not known  
vgpjPypay; nry;ypy; Gw;WNeha; cUthtjw;F _______ vd;W ngah;. 
a. Y}f;Nfkpah   b. rhh;f;Nfhkh   c. fhh;rpNdhkh 
d. ypg;Nghkh  e. tpil njhpatpy;iy 

 
70. Which one of the following is not a bacterial disease? 

a. Gonorrhoea  b. Tuberculosis   c. Dysentry 
d. Mumps   e. Answer not known 
fPo;f;fhZk; Neha;fspy; vJ ghf;Bhpahtpdhy; Vw;gLj;jg;gLk; Neha; my;y? 
a. nfhNdhhpah  b. bA+gh;FNyh]p];  c. tapw;Wg; Nghf;F  
d. nghd;Df;F tPq;fp e. tpil njhpatpy;iy 
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71. Which of the following is incorrectly paired? 
1. NCPCR – National Cooperation for Protection of Child Rights 
2. NIDDM – Non – Insulin Dependent Diabetes Mellites  
3. ELISA – Enzyme Linked Insulin Sorbent Assay 
4. NACO – National AIDS Control Organisation 
a. 2 and 3    b. 1 and 4     c. 1 and 3   
d. 2 and 4   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; vit rhpahf nghUe;jhj ,iz. 
1. NCPCR – Foe;ijfs; ghJfhg;gpw;fhd Njrpa $l;likg;G 
2. NIDDM – ,d;Rypd; rhuhj ePhpopT Neha; 
3. ELISA – nehjp rhh;e;j ,d;Rypd; cwpQ;Rif kjpg;gPL 
4. NACO – Njrpa va;l;]; fl;Lg;ghl;L mikg;G  
a. 2 kw;Wk; 3  b. 1 kw;Wk; 4   c. 1 kw;Wk; 3 
d. 2 kw;Wk; 4  e. tpil njhpatpy;iy 
 

72. Theme of International Girl Child Day 2023 is 
a. Digital Generation, our generation 
b. Our Time is now – our rights, our future 
c. My voice, our equal future 
d. Invest in girls rights: Our leadership, Our Well-being 
e. Answer not known 
rh;tNjr ngz; Foe;ijfs; jpdk; 2023 -,d; ikaf;fU 
a. b[pl;ly; n[dNurd;> mth; n[dNurd; 
b. mth; ilk; ,]; nes – mth; iul;];> mth; /g;a+r;rh; 
c. ik tha;];> mth; <f;ty; /g;a+r;rh; 
d. ,d;nt];l; ,d; Nfh;y;]; iul;];: mth; yPlh;rpg;> mth; nty;-gPapq; 
e. tpil njhpatpy;iy 

 
73. Justice Gorla Rohini Commission is related to _______ 

a. Sub-Categorisation of OBC b. Sub-Categorisation of SC 
c. Sub Categorisation of ST  d. None of these 
e. Answer not known 
ePjpaurp Nfhh;yh Nuh`pdp FO vjDld; njhlh;GilaJ? 
a. gpw gpw;gLj;jg;gl;l tFg;gpdhpd; Jizg;gphpT 
b. gl;bay; ,dj;jthpd; Jizg;gphpT 
c. goq;Fbapdhpd; Jizg;gphpT 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

74. He who does not enjoy the immense riches he has heaped up in his 
house, is __________ 
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a. baseness  b. Wealth without benefaction  c. Familiarity 
d. The dread of Mendicancy e. Answer not known 
<l;ba nghUis ahtu;f;Fk; gad;glhky; G+l;bitj;Jg; ghJfhg;gJ ______ 
vd;W miof;fg;gLfpwJ. 
a. faik   b. ed;wpapy;nry;tk;    c. gioik  
d. ,utr;rk;  e. tpil njhpatpy;iy 
 

75. How many days are there in x weeks x days? 
x thuk; x ehl;fspy; vj;jid ehl;fs; cs;sd? 
a. 7x2  b. 8x  c. 14x d. 7 e. tpil njhpatpy;iy 

 
 
 
 
 

 
 

 


